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And he leaves in the beginning enough to roll around the shaft and at
the end enough to encircle

OVERVIEW

The Xn»72 teaches that when attaching 7"i1n together he leaves enough empty
parchment in the beginning (before starting the 7710) to enable it to roll it around
the 01 vy, and at the end (of the entire 7"in) he leaves over sufficient blank
parchment that it can encircle the entire scroll.

— 099990 Y93 N5 )2
This is how it is written in all the X713 texts that 9> 75 191021 7MY 9135 >72 WK1 AWW.

nvoIn asks:
— zmbrmb 15951 ©9901 Y5 09910 NIDNA NINT PN 13%29Y NYUP)

And the 5""9 has a difficulty with this X077, for we learnt in a Xn»93 in noo»
29910 that all the w1 99% are rolled to the beginning —

mooIn cites an additional X7n3, which supports his question:
— 9533 YD ININNY *1tY 990 393 MmN yapy)

And later 2py° 72 XX 17 also said that the 770 999 which was in the 791Y was
rolled to the beginning, so seemingly the 77°71 *75 should be at the beginning.

mooIn rejects a possible answer to the last question:
- 619 YNRYN PYLHN PR INDY ININNN 50‘!\731‘,711 v99Y Ny

And that which >""w1 explained there that it is 522 from the beginning to the
end (which would answer the question), the syntax of %11 X171 1n%1n% does not
indicate so, but rather that it was 1n%1n% 19101 9931.

" In our X3 the text reads P> 2183 *72.

> When you open them they will be at the beginning, so seemingly there should be at the beginning of the scroll
sufficient parchment 7°71 *75 of the entire 190, and not at the end (which is in the very center (inside) of the scroll).
a7

* See *"wA there (790 11"7) that this refers to the n"o which 11°27 7wn wrote and it was placed in the 771V and used for
reading the 77171 nwIo at %7pi and the 23"713 on 2"

> n5nn 7"7 ow. According to the X"2w7 w7, the words 7231 X171 AN means according to *"wA that the one who
is 999 goes to the beginning of the 190 and begins to scroll from there towards the end.

% The word n>nn> refers to the direction of the 7°23 not to the person who is doing the 77°93.
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mooIn cites additional proofs that we are IN71N% 19107 271
— ANYNNY 11T YIY 2995 THANN NN 129999V ) 71)"1):2% AN AN

And regarding a 5171 the X7n) also states that we roll it from 71X towards y»w,
which means that we roll it towards the beginning (and presumably the same should apply to

a n"o that we roll it towards the beginning) -
— 1992 NN 1909 Ty 01X DY Nt NP P93 915WHH%1 19909) NI

And in 252> 790 in the first po of 7973 noon the text clearly states that a

person makes a rod for the 71710 920 at the end (indicating that it is rolled from the end
to the beginning [around this rod]). The question remains that our ¥07°) seems to contradict all
these other sources.

N1B0IN answers:
— Y SN 57519021 129H50 315 IWNI DY 1PDINT PHYY 135395 NI 19 Y

Therefore it appears to the "9 that we read the text; nP%7 575 MWNR92 7w
7Y ®13% 973 12192Y; the opposite of what the X077 is 21907 992.

mooIn offers an alternate solution:
— 09901 NV DPY NN DNYAN )3 PYNY 132399

However the X'aw+ seeks to sustain the text in all the 250 -
— 0229123 ON’2) NNIN 222992 Y9INRT INY NOM

And here it is different (from all the other sources where it states that we roll
1N°nnY 19107%) because we are discussing a case where he attached 97''1n together -
— NIYY 1139 1902 THIIY MUY 1133 PN IN)
And then it is not proper to make the 7y at the end as is usually done -
— 0193 ON2) 2220 HI93) NN RNANY NIN INMHY

For it is shameful that the 77910 should be wrapped around the 2321023 2°8%2:-
— 719951 9V ONY HOYYI 1IN NI

For it appears as if the 770 protects them from becoming soiled -
— NINa1 D2INH DN 0219210 NN RANY 219 YN T1NIY NI AWIY 755

Therefore here in this case he makes the 71y in the beginning in order that the

7910 should be on the inside and 9''2 will be on the outside.
— 4257 1Y 579 99)0) DY TNY 315 9901 NYNN DI KY NP 191185 saunt Hynny

72,85 ninm.

¥ (x,2°) v 7990, It reads ANOWERRY TNNM NTND 1907 Y913 7290 1971 19°1 7INY 19102 000 7MY PRI,

® In our texts in the *»5w17 the word 770 does not appear (2"w1). Regarding a n"o the conclusion of the Xm3 here
(on 8, 7) is that there are two 27y and it is Y¥nX? 9231. See previous footnote # 8.

' See “Thinking it over’ # 1.

' x,7. The ®7m3 there cites a Xn2 which states 213% *75 19101 790 nonn, which indicates that the same amount is left
blank both in the beginning and the end, which contradicts our Xn>>72 which states 717 12 191021 7Y 12 WR2.
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And later when the X713 answers %np 197739, the text does not read; “9% n>nn

NPT DIAR 970 1DIVY TIRY PIAD 37D -
— £2)N9) DIN2) NN PraT1IA Y9N XY OnnT

Because there in that Xn»12 (of 1% >72 19101 150 nNPnn) we are not discussing a

case of attaching 7'"'1n together -
— NY 1 90D 11185 NN D9 NY D990 2993) PNI9IN 919919 19 19N

So there we should say the opposite [Ty 3% 575 121021 AP 72 WKI2];

however in most text we merely read only %inp 197729, but no more details of
W2 or 102 -
— NN DI NOVWP RY NY 2D9)T ©2990Y 192aRT DNIAN 12 PWNY 13929 90N T

And furthermore says the X''aw1 that even those text that read 7> 2907 n%nn
21 7MY 919, it is not such a great difficulty (even though it is not a case of 7"in p>27n) -

M nby INDT NI THT NIDYT NYY 1Y NNT
For the X nx prefers to answer this Xn»72 that it is discussing a case similar to
the Xn>92 which it was referencing (meaning our Xn»92 of 131 1WwWx12 TWWY).

SUMMARY

"1 maintains that the 737°93 is 19102 NP 1nn, the " maintains N>0NY 1D0ON, the
X"awn distinguishes between a complete 7"in (102 N2 1Nn) otherwise 19101
nonn.

THINKING IT OVER
1. MpoIN writes that 727 *72 WK1 7w, When he begins writing (the 7"1n) how
will he know the size of the 711?'°

2. How will the "9 explain the xn>2 later'” which states jn%nnn o593 019077 93
RPN

12 The meaning of *1np P77%7 is that the 9137, which refers to 1n?nn, is not the same as the 2132 which refers to 1910;
one is MY 713% 73 and the other is a7 715 7.

13 The n1"271 N30 amends this to read 217271 TIAY 2135 575 121921 AR 37 WRI2 NIDN.

' The xm cited the Xn>™2 of 1% 7 7901 71O NN to contradict it with the Xn™12 of 15 7MY 1% 73 WK3; in the
answer °"210 states that even if this Xn>921 is discussing the same case of 7"in pa7> ax177, there is still no
contradiction. However in truth it is not discussing this case.

15 See footnote # 10.

1 See n"m.

7x,7 1m0b.

'8 See bW *10 and N
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